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][D\MXgOUD I� o�� JOLONKH[OU I� `� WONHVKOX Om VQM KXVML\D[NM jOkMN Om VQM SbKXO\
JOSM%ZKXSVMKX aOXkMXSDVM EKVQ VQM kKbONM/kKbONM KXVM\DaVKOX�

fQM jOkMN VQDV kMSa\K[MS VQM KXVM\XDN kML\MMS Om m\MMkOj Om VQM SbKXO\ JOSM/ZKXSVMKX
aOXkMXSDVM EKVQ kKbONM/kKbONM KXVM\DaVKOX KS SONUMk Hb VO KVS MKLMXSVDVMS DXk MKLMXUDN/
HMS� fQM \Mb\MSMXVDVKOX Om VQM FDjKNVOXKDX Om VQM jOkMN KX VM\jS Om LMXM\DVO\S Om
��)�� �* DNLM[\D DNNOEMk VO kMUMNOb VQM vHDXVHj KXUM\SM jMVQOk mO\ KVS KXUMSVKLDVKOX�
fQM jMVQOk Om SONHVKOX b\OUKkMS D LMXM\DN m\DjMEO\g EKVQKX EQKaQ jDXR \MNDVMk b\O[/
NMjS aDX SKjKND\NR [M SONUMk�
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